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CHEMISTRY
(Honours Generic/Regular)
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Answer either in English or in Assamese.

1. Answer the following questions: 1x7=7

wore fral eHtERT Ted a

(a) Write the mathematical expression of
Clausius-Clapeyron equation.
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(b)

(c)

(d)

(e)

The Gibbs’ phase rule is
o< el Afows! e

(1)
(1)
(iii)
(iv)

of AH ... and AV,

4

WTW‘{EET ‘QW?ITC?T AHmixi_ng W Av’lﬂ:m«:mg q
S (20! forall |

What is the value of ionic product of
water at 25°C ?

25°C THOT® AN ST oz e furiey 2

Complete the reaction:
weTe fra IpiafRs RS s =
CH; -CO-NH,—2%

Write the products upon acidic
hydrolysis of sucrose.

e o SfE Sl 9l Seod @it (eEe
foralt |
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(g) Write the cell reaction of the cell
Cu| Cu™(aq) |l Ag*(ag)| Ag.

wete Al (iEoE e [

Cu | Cu™(aq) |l Ag*(aq) | Ag.
Qk?n er

Answer the following ques/ﬁ ; %'}—8
oo Tl eHaies Tes v - e ¥ Pl gr )
(@) How does the molar e‘@ @szﬁvi Qé"u a
weak electrolyte vary S on ?
Explain.
“Tgo (e Y, e [ GBI ses #Af<aie!
@ AARTST 2T TR |

(b) How would you convert acetyl chloride
to mono chloroacetyl chloride ?

G5 FAReT T F S «RDIZe FaRoe [T
RS Faal?

(c) Write the Perkin’s reaction. (Give
chemical equation)

SR Rt ol (Friafae Rt W&

(d) Find the pH of the cell whose e.m.f is
0,178V
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Answer the following questlcfn

0.178V Ryesieis & (e.m.f) EL_ (IO
pH-3 S e i | 3

Pt| H,(Latm)| H /(aq-acld)l :
| H*(LM) | H. (g)i“ :

'.\

! -

.y e (Eiﬂy three)
5x3=15

were fudl e S faal « (R fofAon)

(@)

(b)

(c)

Write the Haworth projection formulae
of a-and p-D (+) Glucose. Explain
mutarotation. 2+3=5

o OF B-D (+) §FET 2R A1 Fa(slow)
26! fordlt | [IShIRteon & <oy =4

Draw and explain the phase diagram
of water system. Explain the effect of
heat on Triple point of this system.

2+2+1=5

TreTog dig] fod ©iifs it 511 | @3 ogw (wge
oo e sivlw arerg =it 34 |

What is the tertiary structure of
protien ? Mention different kinds of
interactions involved in the tertiary
structure of protein. 2+3=5
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(d) Explain the principle of ¢ ,Oﬂciptc metnc

titration of a weak ac1d

base. /;“3
EINe T A Ve g X
A a{,% S/

(e) What is Hinsberg’s reageni'—?iilow will
you distinguish 1°,2° and 3°-amines

with the help of Hinsberg’s reagent ?
(Give chemical equations)

RrEatsfa R 2 gl R rme
10,00 S 3-SR ST CFTACT (A2
(amrEf A )

4. Answer the following questions : (any three)
wero o e s el (Rea fefan)

(@) (i) Define transport number of an i
on. Explain the method of its

determination by moving boundary
method. 2+5=7

ST AR T L | Ge A
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(i) A moving boundary experiment

was carried out with 0.02(N) NaCl
using CdCl, as indicator
electrolyte. A current of 0.0016
ampere moved the boundary
through a distance of 6 cm in 2070
seconds. If the area of cross-
section of the tube is 0.1115 em?,
find the transport number of Na*
ion and CI- ions. 3

CdCl, 3 % Ry Resy e e

* F] 0.02(N) 900" NaCl & GBI9 GeTslie

AifRfE 2 T 9 | A<
sifafds TCe= 0.0016 Wf™TF eqE
2070 (RIS 6 cm bifeTe o) 257 | I
Wﬁﬁ?@ﬁﬁwouls cm? 73,

=3 LiD,.

(%)
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Name the compound when glucose
is treated with bromine water. 1

oed (e @A Al Rieeal 7t Teopy
IR CT&IBIR % fordi |

(i11)

(¢) (i)

\\89
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(i) Convert D-Glucose jp¢,, Ip
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Give five points each of similarity

and dissimilarity between g\\)LB\b\,

and fructose. S

ATE T TIE AGOICF AP SN
D e ]|

How is benzene diazonium chloride
prepared ? How will you prepare
phenol

Chlorobenzene
P -hydroxyazobenzene

and

from

i bgnzg_ e diazonium chloride ?

2+3=9

.'e @Wﬁﬁ@mﬁmg:wiu-a
R (AT Reoet, IR o

p_@@ﬁﬂh‘mw GW ﬁm 1

F\mctose-

D-FER AN D-FE vl gy

) Draw the glucopyranose Structure

(itt

of D-glucose. 2
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(d) (i) Define an azeotrope. Explain two
ty,pes&f azeotropes in the case of
2+3=5

[u) Wﬁiﬁm/rltlcal solution

temperature ? How can it be

classified ? 2+3=5
FIf%s w99l Tl e & q@ie Tned
N Feiew @EmE &

(e) What is eutectic point? Draw and
explain the phase diagram of Lead-
Silver system. Write two uses of eutectic
mixtures. 1+7+2=10

S 77 2 (o1o-ferton ©z ik Ba
S 01T | 2T e 7 e ol

(f) Discuss how the primary structure of
peptide is determined. 10

CfbiRea el a1 @emE [T o9 =@
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